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1 limyae(x— Va2 +2x) =7 (10%)

2 Find < 26D =7 (10%)
dx
3 Itisknown that 2x* + y’=5xy. Determine the value of dy/dx when (x,y)=(1,2). (10%)

4  Find the arc length determined by the curve y= 1—12~?<3 +§ over 1< x < 2. (10%)

5 f:(coszx + sec?x) dx =7 (10%)
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Bl tdsmcdom b =2 (10K)

7 fol[fylsinxzdx] dy =? (10%)

8 When 2x* -4xy + 5y°= 1, fix,y)=x*+y%, determine the maximum value and
minimum value of f(x,y). (10%)

9 fomexp(—sz)dx =7 (10%)

e d
10 y=f{x} satisfies E—i: =2 % When x=1, y=2, what is f(x): ? {(10%)
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